£ TEEFRIFHE RFOHOERE

& F 5 HEA factorl factor? factor3 factor4 factorS factorb factor? h2

FeiE HEEORERE CREER) 0.699 0249 0034 -0119 -~0.118 0.174  0.099 0.620
» HEEDTEER (107E2E) 0.633 0195 0136 -0092 ~-0.118 0231  0.122 0.548
BEOBELAMEEND 0615 0184 0117 -0.027 0043 0187 0075 0.469

R, BT OFEE 0.595 0268 0075 -0.034 -0.129 0211 0.175 0.524

RICEEZ#VERY 0.589 -0.060 0073 0005 0202 -0072 -0.059 0.405
HEEQRERKEBREE) 0568 0148 0126 -0020 -0002 0066  0.079 0.371
hmEORFTERTD 0495 0137 0034 0124 0153 -0034 0457 0513
SEOLEINTOEHEOEHRME 0457 0234 0384 0136 0000 0076  0.179 0.468
FLUEEDBFHREENS 0442 0177 0090 -0.021 -0.265 0.395 -0.029 0.462

EYEETS 0.423 -~0111 0011 0009 0379  0.001 0.063 0.339

IADL FEOKE) -0.010 0.815 0134 0067 0068 0033 -0017 0.693
ELG)) 0074 0798 0154 0189 0112 0044 -0.004 0.716
HEeMFRE-SHEEAE) 0235 0785 0133 -0.012 0001 0013 0.089 0.698
HEWFHRE-SHREBBEN) 0290 0718 0131 0020 0038 -0008 0.008 0.629
BEEEMNTEEER) 0184 0594 0075 0097 -0.114 0.137 0.153 0.457

B&-sm EMFE~DSM 0.188 0132 0773 0011 0010 0059  0.101 0.665
BAAEE~DSM 0247 0176 0752 0107 0023 0052 -0.024 0.672
2RNBER-EN 0229 0155 0715 0152 0157 -0.044  0.086 0.644

BRENGEESTE 0011 0186 0676 0211 -0067 0079  0.106 0558

FEHOLNDFE: 1L -0056 0029 0461 -0.115 0046 0043  0.240 0.291

ADL RO TODHITHE -0.182 -0043 -0051 0.830 0085 -0.022 -0.136 0.753
ERNHT -0.179 0014 0002 0827 0115 -0048 -0.148 0.753

T8I 3G 0060 0098 0143 0567 -0038 0056 0.123 0.375

B .48 0.148 0260 0077 0522 -0056 -0.012 0.144 0.391

B 28t -0034 0076 0141 0405 -0.118 0387  0.0%4 0.364

SO DES FL{ABNBEE: 28%Y -0085 0036 -0.134 0114 0636 0086  0.050 0.454
e 1HOBRORSDEE -0.026 0008 0157 -0080 0613 0110 0.184 0.454
BIERELE 0239 0003 0155 -0073 0606 0011  0.002 0.453

2= 0065 0039 -0093 -0038 0.606 0192  0.060 0423

HEER 0427 -0.131 0017 0061 0488 -0.106  0.017 0.454
JEHFENBFIE:3ELA -0129 0046 0041 0045 0449 -0051 -0.079 0.233

BPSD WHEEORE(AE mESMTE 0033 0082 0090 0028 0145 0590 0.217 0.434
WADILDEWETS 0.125 0047 -0.119 0047 0036 0559 0.119 0.371

HEMD 0.305 0086 -0044 -0.290 0090 0490 0.141 0.454

RIZRY-A S 0250 -0029 0187 -0.096 0240 0468 -0.035 0.385

FEDOEEFEND 0.100  0.051 0106 0037 -0.006 0466 0016 0.243

A%y -3y BHROEREFMEICRAS 0122 0198 0109 -0.082 -0.039 0128 0.659 0.525
BEFERRTS 0.082 0069 0316 =-0035 0044 0233 0.629 0.565

BEAOED 0095 0148 0215 0183 -0214 0262 0507 0.481

I HONERTE 5ELEFEE -0.006 0010 -0091 -0.061 0231 -0064 0.487 0.307
EEOBR(EOFER)NTES 0239 -0063 019 0213 -0049 0037 0.457 0.358

K AHENEFE T 4EBED 0254 0005 0364 0139 -0.080 0058 0.426 0.408

[EETAW)] BIROEE~DORIG 0.385 0093 0114 0074 0228 0059 0255 0.296
HAET 0073 0152 0055  0.301 0.147 -0.279  0.097 0.231

FHoNEEE 65 0018 =-0.001 -0.007 0050 0.165 -0.124 -0.077 0.052

HERPERGES) 0109 0380 0116 0258 -0.136 0.383  0.140 0.421
BEAFEELTLD 0223 -0042 0097 0150 0213 0246 -0.139 0.208

EHET 0069 0069 0186 0325 0112 -0365  0.113 0.308

EFF5 436 362 3.25 2.86 2.77 2.52 2.51

KFEHEE5E 9.1% 7.5% 6.8% 6.0% 5.8% 5.3% 5.2% 45.6%

EETARIITET R IZIBOALL .
FHBOBERKEREDY Ivs[REGL I D2{EIZHE

SELT, AU, FIEMEHY 1IN U THZBEOCERZRAL.



x12 REBICHTEIREHY IDEEHE

B2%E E4# HE
REF4 15H B HMEH
$iE HEE D RIEEG CREERE) 53.4 842 ¥¥x
HEEDOFREFHFE0NTEE) 328 63.3 k¥
BEDEEGAIZTEND 60.9 81.9 Hkk
5B, EATDERED 41.7 731 Hkx
RICEEZE#EYRY 57.8 70.0 *kk
HEERESG (1HEMERE) 79.2 96.5 sokk
thEDELTERETD 40.6 61.0 sokk
LSEOEINTOEEDOEHHEME 495 774 ®kk
rMLIEEDBRETND 18.7 340 *kkx
EYEEZT D 18.2 26.4 *%
IADL RKE(GKRE) 845 96.3 *¥%k
REFEI) 78.8 94.1 *%x%
HEWFHES-SETIE(RE 79.3 93.4 Hkk
HEWFHRES-E8EE BN 80.8 96.5 ok
BEEEMNTAHEES) 55.0 80.2 *¥k
BEH-Sm SHEFEEI~NDOSM 61.1 76.4 *kk
BAEEADSM 67.6 81.0 sorx
ERNLTE-EH 69.8 78.9 *%
BHMEEREIE 57.8 645 ns
FLKHLNBERE: 1K 23.8 33.4 *x
ADL EDNTOSITRE 43.4 40.6 ns
ERHIT 36.0 340 ns
B BAA 34.0 46.3 *xx
B A% S 43.7 58.7 ok
1B - 24k 5.9 17.9 sokk
[ DES) K HDBNERTE: 288 17.4 179 ns
nE THOHRDRTDEE) 185 233 ns
BRIFRRE 44.4 458 ns
RE 141 174 ns
HE=E 29.6 374 *
S H#NDHFKIF:3ELA 13.8 13.7 ns
BPSD INEEOEE(RBE-EEEGTLE 134 30.1 ok
HmADEDEIRET D 5.1 8.2 ns
HEMRD 174 272 x%
RIZRYE=HD 12.6 217 *%%
RIEDEZEND 5.9 90 ns
a2z —iary BER0EREMEITIEAS 20.0 38.1 *kk
BRiFERETD 14.0 20.3 *¥x
ZEE~ DR 20.7 452 *kk
FLKHALNDLRIE OFBES 64.2 732 *%
EEDEMEDER)NTES 28.9 414 *kx
FEHNDFRIE: 4TED 20.0 29.2 **




# 13-a REGOLEER (1) BE
(BXEE1 : N=288)

BT N—T
BERGE | FRNE
NoTo% LN
BRE : 1 £ LR | | |
HY 5 4, 0; 10 6.2
BE : 2B LK | i i |
HY 4 3. 2; 8 4.9
BR - 3 T | | | |
HY 44 34.9 64 39.5
B : 4B TR | | | |
&Y | 42 33.3 53] 32.7
£13-b REGEOLE () FE
(BEXIE 2 : N=423)

| AT L—

emmaE | R

! N % LN %
BRE - 1% LR | | | |
HL 20 9. 8} 21 9.6
|FrEE : 2B LR i | | i
HY 17 8.3 24 11.0
BRE - 37 TR | | | | |
| &Y | 100 48. 8 93 42.7
. ] ]
HY I 84 41.0 93} 42.7




® 14-a RKEHBOLE (2) F-BE

(BEXE1

E BwIsn—77

E EERAGE | FERHMGE

I N | % | N | %
l?ﬁjﬂ&? |
BAbd 79 62.7 113 70.2
PPRZIZCWL 4 32.5 44 27.3
MEYRZIZTL 6 4.8 4] 2.5
BAET x | '
EZZ5 59 46. 8 107 66.0
PP ZIZCW 46 36.5 46 28.4
MU Z ZI2< W ] 21| 16.7 9 5.6
x: p<.05 (Fisher’ s Exact Test)
%140 REQOLE ) # - BE

(EXiE2)
} B IIN—"77
BERME | FERHE
NToo% N %

l?ﬁjﬂﬁ‘F * { = }
BZ5 115 56. 7] 143| 65.6
PPHEZIZCW 83 40. 9] 64| 29.4
MEURZIZWL 5 2.5] 10| 4.6
BEHIET * { { {
Hoz25b I 106 52.0| 141] 65.0
PHLFZZIZ2CW | 70 34. 3| 57| 26.3
IShGEYECZIZC N ] 28] 13.7] 19| 8.8

*: p<. 05 (Fisher’ s Exact Test)




# 15-a KEBEOLE ) B - 4H

(EXHE1)
@B n—=7
BEZAAE | FEEBEAE
N % I N | %

RO TOHITHRE E

| B ST l 69 56. 6 79] 51.0
BT 39 32.0 60| 38.7
$H1T8 11 9.0 16| 10.3
TBIZ & B51F 3 2.5 0| 0
EREST } | i

B ST 81T 83 66. 4 100 62. 1
DHE - THFT 37 29. 6 55 34.2
H1T3% 2 1.6 6 3.7
BNz & B 51T 3 2.4 0 0
V&Y THHE * l | I

@5 ELE 15 11.9 30 19.0
|sBiz2~48 47 37.3 48 30. 4]
18 23 18.3 45 28.5
FEAEMHL 41 32.5 35 22.2
BB EE =M

|58 5 ELLE 0] 0 4| 2.5
Biz2~48 10 8.0 13 8.3
B1H 22 17.6 42 26.8
FEAELL | 93 74.4 98 62, 4

*: p<. 05 (Fisher’ s Exact Test)



# 15-b KEBHEOLEK (3) BEH - 54

(BX$E2)
B ITIN—"7
B EZME | JEERHISE
N % | N ] %
KOOI TOHTERE i i
BT 66| 33.0] 62 29.8
BT 89| 44.5] 107 51.4
H175 31| 15.5] 26 12.5
Bz & BT 10} 5.0] 9 4.3
BNVY | 4] 2.0] 4 1.9
ERNHF | |
BIL 5T 92 45.8 96 44.9
OMESTEHT | 98 48. 8 110 51. 4]
HITER 8 4.0 7 3.3
Nz & BHT 3 1.5 1 0.5
D&Y THE
E5EUE 19 9.5 22 10. 2
Blz2~48 51 25.5 72 33.5
B1B 43 21.5 47 21.9
l[FEAELRL | 87 43.5 74] 34.2
RBEHEEEE -4 I |
BHELE | 3 1.5 2 0.9
Hiz2~4H8 | 9 4.5 18 8.3
BE18 | 25] 12.4 32 14.8
lFEAELTL | 165] 81.7 164] 75.9




% 16-a KEROLE (1) ST

(EXE1)
B —7
BEENE | JERHE
Nl % I N | %
PEER R 1%
|BhTTES 43 34.4 61 37.7
OHhENRIETED 68 54. 92 56. 8
NEIABE 14 1.2 9 5.6
b EAY |
|BhTTES 72| 57. 1 90| 55.9
DHENRIETED 52 41.3 70 43.5
NEHBE 2 1.6 1 0.6
1 590EKSIT
TE3 80| 63.5 113 70. 6
ERSTIETERD 42 33.3 44 27.5
HITHEE 4 3.2 3 1.9
[ NP N
HY 94| 75.2] 122] 78.2
L 31| 24. 8| 34| 21.8




#z 16-b KEEZEOLLE (4) HiTHAE

(BExXE2)
B o—-
BERME | FEBHGE
N % [ N | %
FEER S FE
BATTES 39 19.0] 46 21.3
DHENIETED 124 60.5 132 61.1
NEIAKE 42 20.5 38 17.6
T EAY |
HBOTTES 82| 40.2 86| 39. 4
OHhENIETES 112 54.9 125 57.3
TEIAILE 10 4.9 7 3.2
1 55 0EHEHT ]
| TED 115 56. 1 125 57.3
ERSATIETEG L 83 40.5 83 38. 1
HITHHEE 7 3.4 10 4.6
EEADRE
HY 184 90. 2| 184 88.0
[% L 20 9.8] 25 12.0




F=17-a KREGOLE 5) BiKkNE (ADL)

BXED
Bwmon—7

BERMIE JESRMAE

N % N %
lﬁ%:1§ﬁ i |
HY 4} 3.2 2] 1.2
B 28 * i | |
HY 6} 4.8 0 0
|98 : 3 A | | i
HY 34 27.0 34 21.0
B 4EE | | |
HY 29 23.0 27| 16.7
B : BEK * i | i
HY 1J 14.3 1J 6.8
TBh: 6ER * i | i
HYy m} 9.5 3} 1.9

*: p<. 05 (Fisher’ s Exact Test)




£ 17-b REZLOLLE 5) HiENE (ADL)

(EXE2)
Bins—7

mERME | FROE

NTo% LN %
N8 1ER | | |
Y d 1sl 2 oo
B 2 | | |
HY 12 5.9] 7 3.2
B BAB | |
HY 87 42.4 68 31.2
B A%E | |
HY 94 45.9| I 32. 6}
ftB1: BEK * | | |
HY 43 21.0] 30 13.8
78 6BE | | |
HY 24 11.7 11 50

*: p<. 05 (Fisher’

s Exact Test)



# 18-a REEEDLLE (6) IADL
(BEXE1)
BwmIN—7
BERME | JFEME
N N Dk

={AtY) *

BATLTWLWS 27| 21.4 63 39.1
—&L TS 39 31.0 45 28.0
TEHNLTLEN 36 28.6 33 20.5
TEGL 24 19.0 20| 12. 4
I%’ALIE * |

B2TLTWS 23 18.3 63 39.4
—&LTLD 30 23.8 34 21.2
TEHBRLTLEN 35 27. 8| 44| 21.5
TEREL 38 30. 2] 19] 11.9
|t * I | |
BR2TLTWS 35 28.2 81 50. 6
—fLTWLD 24 19. 4| 37 23. 1
TEHNLTHEN 32 25.8 30 18.8
l‘G‘%TJL\ 33 26. 6 12 1.5
1Rbx *

|BE2TLTLS 32| 25.8 84 52.5]
—&L TS 53| 42.7 53 33.1
TEHALTLAEL 24 19. 4 20 12.5
TEEW | 15 12.1] 3 1.9
HEMmFHRE - EREE x I E
BoTLTWS | 40 32.0 104 65.0
—#LTLS | 45 36.0 38 23.8
TEDALTLEL I 17] 13.6 11 6.9]
|cEr I 23] 18. 4 1 4.4

x. p{.05 (Fisher’ s Exact Test)



% 18-b KEEBDLLE (6) 1ADL
(BXE2)
BiFITIN—7
BEERNE | FEEEE
N % | N | %
B *
BATLTWLS 27 13.2 33 15.2
—&8LTWL 50 24.5 72 33.2
TEAMNL TN 56 27.5 68 31.3
| TEAHN 71| 34.8 44| 20.3
#8
BHTLTWS 31 15.2 45 20.7
—EBLT3 47 23.0 56 25.8
TEAHRLTULEN | 52 25.5 56 25.8
TEHL | 74 36. 3| 60 27.7
59 } I l
BATLTWS | 46 22.7 65 30.0
—8LTW3 | 50| 24.6 57 26.3
TZEHALTULAEL | 54 26.6 51 23.5
TEHL | 53 26. 1 44 20.3
BHATLTWS 1 47 23.2 68 31.5
—ELTLS | 90 44.3 97 44.9
TELHMNLTLEL | 36 17.7 33 15.3
TEHL | 30| 14. 8| 18 8.3
HENFHE - SBEE * { } }
BHTLTWS l 46| 22.4 93] 43.7
—8 LTS l 81] 9.5 74| 34.7
|cEHA LTV | 35] 7.1 33| 15.5
[eEL | 43| 13] 6.1

*. p{. 05 (Fisher’ s Exact Test)




£ 19-a KRGO (1) 032245 —23y

(ERE1)
i —F
sEmaE | R
N ol % | N |4
EADEEEMECELD  * I ‘ ‘ '
T&ED 99 78.6 157
CEFERE 27 21. 4 4
s OEEERT 2 * | i
TE53 77 61.6 155
la%asmﬁ 18] 384 ]
HEEEEET 5 | ’ |
FEBIZEZ N 43] 34.1 68|
EELFERONS 58 46.0 62
l[i&/ur‘_:bﬁt‘ 25 19.8 30
e ‘ '
EBEIZSZ L 5] 4.0 2
LESERLND 0] 161 2
FTEAELGN 99 79.8 139

x: p<. 05 (Fisher’ s Exact Test)



F19-b KBHEOHE () 33245 —Yav

(E%IE2)
| E wmmITI—"7
| mewm | mams
N % N %
EADEEEHECELS | |
T&E5 | 178 86.8 214 98.2
FELFERE | 27 13.2 4 1.8
EOEEERT 3 | | }
T&E3 130 63.4 206 95.0
EEEFEEE 75 36.6 10 4.6
TELL | 0] 0 1 0.5
HEEERET | |
FEEIZZ L 64 31.4 95 44.0
EEEERONS 109 53.4 93 43. 1
FEAELEZL | 31 16.2 28] 13.0
T ; }
FEEIZZ L ] 4 2.0 7 3.2
EEEFERLNS ] 51 24.9 32 14. 8
FEAELEN | 150] 73.2] 177 81.9

*x: pl 05 (Fisher’ s Exact Test)




F* 20-a KEBEOLE 8) RIE

(EXE1)
@ n—=

BERAE | FRAE

N j N
< BONBEM : 120 | |
Y T 'Y
L HENBEE: 28Y | | | |
5Y sl el 6.9
| < HDNBHEE: 3%LH  * | | | |
%Y 4] 19.0] 16 9.9
E<HBENBEME : 4 EED | | |
1Y 18] 143 14] 86
F mohBER sEbEE x| | o
HY I A A B
PPNy —. ] ]
HY T T 4.9

. pl.05 (Fisher s Exact Test)



% 20-b KEBBOLEK 8) RIF

(E%iE2)
mHRIN—=7

mERAE | FEAE

N i N
ECHENBEE: 120 | | i
H 150 73.2} 174{ 79.8
L HDONBEE: 28Y | | i
Hl 30 14.6} 24{ 11.0
|E<HLNBEME: 3ELH | | |
Hy 27 13.2 27{ 12. 4
£ HDNBES : 4 BB | | |
&L 37 18.0] 15} 6.9
£ HONBEE: BELEE | | |
IZBRJ 73{ 35. 6] 100i 45.9
£ HBONAEN : 65 | | |
HY 32{ 15.6 27{ 12. 4

x: p< 05 (Fisher’ s Exact Test)




= 21-a REEBOLLE (9) Bt

(BEXE1)
BEIN—7
ERRE IR ANGE | EEREEE
N % | N | %
1TEHOFRORPDEE *

[ DAz 101 80.2 152 4
EELAT L 22 17.5 9 .6
EEAKEN 3 2.4 0 0
SONEENEE (A - ;EELGLE)

T3 109] 87.2 150] .3
TEDIELDHD 16] 12.8 9] .7
BEOEL~DOXG * | E | {
IBIETES 67] 55. 4 139] A

|4 LEEL 53] 43.8 16] .3

[ B L <REL 1] 0.8 1] .6

*: p<. 05 (Fisher’ s Exact Test)

5 21-b KEBAOLE (9) #EEk

(EXE2)
I BT IN—7
i B ERAE | FEERHNIE

I Il N I % | N |
l1E®¢®ﬁﬁ@£§ I } }

DAy | 168] 82.0 188 L2
FgLPT | 35] 17.1 29 .3
EEHAREL | 2| 1.0 1 .5
| SONEENERE (R - HEEGLE) * } {

TED | 175 86.2 201 .6
TEBIELNHD ] 28 13.8 16 4
BEOEIE~DRIG * %

JEISTE5 l 124 62.9| 180 .9
> UIREL | 71 36.0 31 .6
HBLUCGERL | 2 1.0 1 .5

*: pl. 05 (Fisher’ s Exact Test)



*22-a WREEOLE (10) FE - 2N

(EE1)
A5 — T
BEEaE | ERAE
N % | N | %
B R E R
| & <EC 62 50.8 95] 61.3
DLLEL 52 42.6 52 33.6
FEAEFGEMTN 8 6.6 8 5.2
LBMLER - EN *
WOLERILH D 44| 36. 4] 97 63.8
EWEENRHD 74 61.2 b4 35.5
I(ﬁi&:AJ&ftIL‘ 3 2.5 1 0.7
EEER A~ DS % ' '
| B%&n 50 41.0 99 63.5
BEEEm 67 4.9 54 34.6
ML 5 4.1 3 1.9
EAEZA~DSM x
BESN 44| 36. 1] 93 60.0
RBEIEESm 73 59. 8 59 38.1
SmULAL 5 4.1 3 1.9

x. p<. 05 (Fisher’ s Exact Test)




#z22-b REEGOLE (10) FE - S0

(EXE2)
BRmIIN—7
SEIaE | ERaE
Noloo% | N | %

B R B *
K <CEL 75 38.1 112 53.1
L LEIC 92 46.7 87 41.2
Ili(‘:/\/c‘f@m\@:b\ 30 15.2 12 5.7
SBLEX - E *
W2OLEHNH D 71 35.9 115 54.8
EBEWNEENHB 117 59.1 93 44 3
FEAERTN 10 5.1 2 1.0
EFEHA DS % | ' ‘
BH#&M 81 40.9 134] 63.5
BEiESm 112 56.6 73 34.6
Sz 5 2.5 4 1.9
EAEZADS «
=k 71 35.9] 127] 60. 2
{BEESm 117 59.1 82 38.9
S L7y 10 5.1 2 1.0

*: p<. 05 (Fisher’ s Exact Test)




% 23-a REGOLLE (1) 8k - K&

(BX#E1)
@mwIN—7
B EZRME | FEFEHE I
N % I N %
BE~ORED *
=AY 41| 33.6 88 56. 4
A0S 66 54.1 62 39.7
DI 11 9.0 5 3.2
F oV Y= AR A 4] 3.3] 1] 0.6
lf&%%%ﬁ%:. |
HESY 5 4.1 7 4.6
FFIZEYRE 5 4.1 10 6.7
L | 111 91. 7| 133 88.7
BEE (FRRE. XBORY) % }
HY 22| 20. 6] 25 18.9
[Z L 85] 79. 4] 107 81.1
= 23-b REEBOLLE (1) BE - RE
(BXE2)
} B TIN—7 |
} BEEZANE | JEEEANSE |
| N | % | N %
BE~DRED * E | I
=4 A l 66 33.3 117 55.5
| 525 | 104 52.5 83 39.3
2y sd A l 21 10. 6 8 3.8
lb#%@u [ 7 3.5 3 1.4
EHREFIKEE E
BT | 12] 6.2 7 3.3]
FrIZ& YR 11 5.7 14 6.7
L 171 88. 1 189 90.0
} ' ; ]
BEE (FFREL. XB2EORY)
| &Y 46 25. 4 35 19.0
%L 135 74.6 149 81.0






